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EUNSRIB2 10,306,691 9,696,940 609,751
308 KHXISHHI SOIH 10,306,691 9,696,940 609,751
01 RXESHZAEES 10,306,691 9,696,940 609,751
OELHSHZBZ 10,306,691
S| HY AL AL XX 2 2,025,000 1,875,000 150,000
408 XX S SKH=0IH 2,025,000 1,875,000 150,000
01 XSS E 2,025,000 1,875,000 150,000
[T H AR A & X X 2 2,025,000
ZAXIL B SHSIIH K 5,250,000 4,050,000 1,200,000
403 KX SIS KH0I & 5,250,000 4,050,000 1,200,000
01 XIS EE 5,250,000 4,050,000 1,200,000
AR L 21 8Hs D H I 5,250,000
CESIHAI 2,700,000 1,500,000 1,200,000
403 XX S SXH=0I & 2,700,000 1,500,000 1,200,000
01 XIS E 2,700,000 1,500,000 1,200,000
OS50 H MK 2,700,000
SDIHSHIX LA 229,100 238,902 £9,802
408 XX S SKH=0I M 229,100 238,90 £9,802
01 XIS E 229,100 238,902 £9,802
(s2IH SIS &K 229,100
MBNSDEALNSH (DS - AEY) 223,200 186,000 37,200
308 XX SHAI SO 223,200 186,000 37,200
01 RXISHBLSES 223,200 186,000 37,200
OMZNSDEAYHSLE(DS - ALE) 223,200
ABNSDEASUSS (AL - ZH) 281,480 572,260 £290,780
403 XX S SKH=0I & 281,480 572,260 £290,780
01 RXISHHAH =B E 281,480 572,260 £290,780
OMZRSTSAYMSL (AL - ZHI) 281,480
AYNSDEAAUS S (ACHLE) 2,168,400 2,168,400
408 XX S SKH=0I M 2,168,400 2,168,400
01 XIS EE 2,168,400 2,168,400
OAZRSTESALMSH (A0S 2,168,400




AR =ENRSR SN RS s
Hu: ABASHBYAH D(SYHLYS/5Y - 5&
CHol: DEIAYMMASI|BEY (crol: m2)
A= 2N - BB S9(S) - HISAY - BES il v A HlDE2
HEAH =S| 242U 2|2 100,000 160,000 250,000
308 KXISHHI SOI® 100,000 160,000 250,000
01 IXISHBAZES 100,000 150,000 250,000
OREAH =SR2 S+ 2 100,000
HEAH =2 DSE2N 130,000 100,000 30,000
308 KXIEHHI SOI® 130,000 100,000 30,000
01 RXSHBAZES 130,000 100,000 30,000
ONEAH =222 RS ELX 130,000
HEtAH =222 S| K 118,500 118,500 0
308 KHXISHHI SOI 118,500 118,500
01 RXISHBAEES 118,500 118,500
OREAH =222l S KX 118,500
HEAH =22 AS T LXK 79,000 79,000 0
403 RXISHHI SRH20I T 79,000 79,000
01 RIS X2 2 E 79,000 79,000
OMEAH =Sl A ST & X 79,000
B ETERNENE 4,000,000 4,408,800 408,800
308 KXIEHHI SOI® 4,000,000 4,408,800 408,800
01 RXSHBAZES 4,000,000 4,408,800 408,800
mESIETH =S NE 4,000,000
DERAZMUASIBTLE 6,805 11,125 ~4,320
201 Y2y 6,805 6,805 0
01 AL 22| 6.805 6.805 0
W= 6.805
ODEIAZMAUTISIH 2T 2 R0 6.805
S40IMADIBIR AR 8,050 100,374 A 15,324
403 RXISHHI SKH20I & 85,050 100,374 A15,324
01 XIXISHHIRI =2 = 85,050 00,374 A15,324
Sa0|MAD|BIET E 85,050
=EISTHHH T2 300,000 450,000 150,000
308 KXIEHHISOI 300,000 450,000 150,000
01 RXISHBLSES 300,000 450,000 150,000
(= PR S THEH X 2 300,000
TEEESE 460,000 450,000
403 RXISHHI S KH20I & 460,000 450,000
01 RXISHH X2 E 450,000 450,000
OHSRE &K 300,000
OHS 2SI 150,000
NS EMDA 78,000 %,000 A12,000
408 RXISHH SRH=O0I & 78,000 %,000 A12,000
01 RXISH =2 E 78,000 9,000 A12,000




=EARER
SEECERE
NSEAGHLA (SH &)
224 ZH . O9l(B) - MIRAY - BES A HIm=S2t
IEEEREE] 78,000
EH XHEH A4 =4 S &HH | KT & 200,000 200,000
403 XIS HMSAHE0IA 200,000 200,000
01 AXIHNK2EE 200,000 200,000
[JEH THbH A4 23 o & 200,000
HENTHHSH RIS 300,000 212,400 87,600
308 AtX|ISHHMlS 300,000 212,400 87,600
01 RXISHHE A 300,000 212,400 87,600
LS4 300,000
ANMASSLSNNA 128,680 167,680 A39,000
307 2I2+01 A 25,000 64,000 A39,000
02 QIRHE &AL 2 15,000 17,000 A2,000
&S =sAet2s} 15,000
04 QIZHHAIAIE E X 10,000 47,000 A37,000
(AMMA=sHES 10,000
308 AXISHMSOIA 103,680 103,680
01 XX B E LS 103,680 103,680
(MM HSHEXNEZKIE 103,680
IAENHESNA 27,000 25,000 2,000
307 2I2+01A 27,000 25,000 2,000
02 QIRHEAAIH B X 27,000 25,000 2,000
JE=SYENE2XE 27,000
SAESsHIIAHSSAE 4,900,000 5,400,000 A500,000
403 XtXISHHIS A 4,900,000 5,400,000 A500,000
01 XEXIEHA A= 4,900,000 5,400,000 500,000
S =Re ) 4,900,000
CH 2 M Bi = It 600,000 900,000 A300,000
403 RtXISHAS 600,000 900,000 A300,000
01 XEXIEHX| A= 600,000 900,000 A300,000
LICH 2B IMHE S I AR A (=2
o) 600,000
S| H LA A 0IEH 360,000 342,000 18,000
308 AHXIHMSOIH 360,000 342,000 18,000
01 IXSHHBLERS 360,000 342,000 18,000
OsIIH LA ACIE K 360,000
HS M EHIXI & 283,500 405,000 A121,500
308 AHXIHMSOIH 283,500 405,000 A121,500
01 IXSHHBAEES 283,500 405,000 A121,500
S st EHIXIZ 283,500
EXNEZA (IS IIoHHIE AL 270,000 300,000 A30,000
403 REXISHHIS K201 & 270,000 300,000 A30,000
01 AXSHHAE2ER 270,000 300,000 A30,000
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42 sRARER A dEEsen
M FSAEAAWRAH (SRS B - 5E)
Rl FIAHS U= B HH M IAE (SH9 H2)
4224 - HE - B9I(E) - AIRAY - B of v G o HIDE2
EEREEENEEEERE 12,847,000
THAIE S MACHR] | B H ALY 20,352,975 19,206,625 1,086,350
408 XX RIS K201 & 20,352,975 19,206,625 1,056,350
01 XX =2 F 20,352,975 19,296,625 1,086,350
BT SMMETIIBELAY 20,352,975
6.27-7 3L WA= P (SABLAES) 29,078 0 29,078
408 XXI SIS KHZOI & 29,078 29,078
01 XX =2 29,078 29,078
06.27-7.275 LT = PHI (SEHLAES) 29,078
6.27-7. 2752 (B HAH ) 17,087 0 17,087
408 TXI RIS K20 & 17,087 17,087
01 XX A= 2 = 17,087 17,087
[6.27-7 273 L TSH= Pl (BB HH ) 17,087
U2 OADIEB A 164,830 23,000 141,830
408 XHXI RIS RH0I R 164,830 23,000 141,830
01 XX =2 164,830 23,000 141,830
(D2 0tADHE B EHALY 164,830
FTAAFRI e 2ie it X2 89,000 105,000 A16,000
202 048 16,000 11,000 5,000
01 ZU{0iH] 6,000 6,000 0
CIFTAY| 2 Al B B E A XTI 01| 6,000
04 = 301 bl 10,000 5,000 5,000
IFTAT| 2 A I 2 H 3101 10,000
307 212401 34,000 38,000 A4,000
02 SIAAMAIGRE 34,000 38,000 24,000
CFTAY | A 22 i 34,000
308 XHXISHAISO0IH 39,000 56,000 A17,000
01 XXM Z AR T 39,000 56,000 A17,000
CFTAMIIIE S22 22lbI X2 39,000
BMuABAT 1,430,000 1,418,000 12,000
408 XXI SIS KHZ0I & 1,430,000 1,418,000 12,000
01 XXISHHI K22 1,430,000 1,418,000 12,000
OB+ 32 X2 500,000
OB A M A H AU B ER DN 500,000
OO+ B840 430,000
ASOINEADYRELAA(OIPHEH) 94,000 94,000
408 RXI SIS RHZOI & 94,000 94,000
01 XM X =22 964,000 964,000
OAS0RAEABRELAAOIBES) 94,000
|ALDIA BRI 01K 8 900,000 1,000,000 100,000
308 XX/ EHHISOI & 900,000 1,000,000 A100,000
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2. 29I(310) - HIRAY - BIAES A HIDEZ
ANZ20HHNEZANE 2SN 1,484,311 1,308,883 175,428
403 AXIEHMSAH=0lH 1,484,311 1,308,883 175,428
01 A= 2L 1,484,311 1,308,883 175,428
GIOUXIZZAIZES X 1,484,311
A0St XIA 1,143,487 1,338,005 A194,518
HSA=Z0ld 1,143,487 1,338,005 A194,518
A= 22 1,143,487 1,338,005 A194,518
G ENEE! 1,143,487
EXMSRSHARSAG (MXIHSAIE) 512,850 344,019 168,831
AeHSH=0ld 512,850 344,019 168,831
ASHX2EE 512,850 344,019 168,831
st EM2[SHATSAI (AN
2AI4) 512,850
MdENSKSHAHATSAL (M2+SRHE) 19,500 0 19,500
SHHSAH=0lA 19,500 19,500
01 A= 2L 19,500 19,500
StEN2SSHAFEAME (M2
) 19,500
BHAIE X2 165,300 710,500 A\545,200
IS 2018 165,300 710,500 A545,200
[ HA= 2 165,300 710,500 AB45,200
IrS B AIE X1 2 165,300
JEH=FEXSA 3,193,000 4,681,000 1,488,000
ASHHSA=01A 3,193,000 4,681,000 1,488,000
M A= 22 3,193,000 4,681,000 1,488,000
SSEIHMSLENE 3,193,000
HEUHRNAEES XA 2,131,000 524,300 1,606,700
[2HHSA=01A 2,131,000 524,300 1,606,700
A= 2L 2,131,000 524,300 1,606,700
ANEHMAHHEANHKNAEES KIS 2,131,000
da|tetiiArE =2 3,600 0 3,600
gEal 3,600 3,600
f2eld 3,600 3,600
OIS B 2AERAL =S
3,600
=42 3,600,000 3,300,000 300,000
AEHSA=0IA 3,600,000 3,300,000 300,000
[EM A= 2 3,600,000 3,300,000 300,000
HasSH=Es4AE 3,500,000
EMa - SHMESEXNNS 100,000
STEF0AE 300,000 451,500 /151,500
HSold 300,000 451,500 /151,500
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2. 24 - A B9I(E) - AISAY - B A Hlns
01 kXX 300,000 451,500 A151,500
O M= 300,000
HA S A XA (2 ,080,000 1,487,197 A407,197
308 AHXIHMSOIH 1,080,000 1,487,197 A407,197
01 AIXISHNHBAEES 1,080,000 1,487,197 ANAO7,197
LA FMACHE X & ,080,000
THASEHSEAIZHEIIAIA 10,000 10,000
303 ZA= 10,000 10,000
01 Z&=2 10,000 10,000
OMHASEH=SHAIHEILAIA 10,000
FICTESEEAAIRA 296,862 264,000 32,862
SIS K=201H 296,862 264,000 32,862
AHAA2EE 296,862 264,000 32,862
A& 020k 29%,862
2AAE ALY 1,246,200 1,044,000 202,200
SIS A201H 1,246,200 1,044,000 202,200
S22 & 1,246,200 1,044,000 202,200
OAQIEE2AAEAY 1,246,200
L= MK JAMEIAK D 172,500 210,000 A37,500
ol 172,500 210,000 A37,500
172,500 210,000 A37,500
J=S XA MEIAT
172,500
933,750 983,250 249,500
933,750 983,250 249,500
933,750 983,250 49,500
933,750
ZIHI0IE MEIA XA 421,500 444,000 A22,500
S01H 421,500 444,000 A22,500
dNaEXZ 421,500 444,000 222,500
TEAE MO0 MEIAXIR 421,500
CIEHASHAAMUIAXIA 97,000 300,000 A203,000
|S0I™ 97,000 300,000 A203,000
RPN 97,000 300,000 A203,000
Salge| &y 97,000
olZUHE 6,300,000 6,000,000 300,000
ISAHE0IA 6,300,000 6,000,000 300,000
=22 6,300,000 6,000,000 300,000
cESYUESUUSEANEERY 6,300,000
ADIEEH Al |2 22| &Y XA 326,640 0 326,640
sSAE01d 326,640 326,640
22X 326,640 326,640
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308 XXIHMSOIA 974,000 929,000 45,000
01 AXHHBAELS 974,000 929,000 45,000
OHAASSAZEIMXI 894,000
O2EFAMS A XA 80,000
22| At 4,315,871 5,559,531 1,243,660
N=EER0IBEN 661,960 280,631 381,329
308 RXISHMSOIH 661,960 280,631 381,329
01 AXIHHBAELS 661,960 280,631 381,329
(DIE2L0I85& 661,960
AFHZFICTOIHEYI 15,000 165,000 A150,000
403 MR HSTH=01A 15,000 165,000 A150,000
01 A= 2L 15,000 165,000 150,000
OAHSH ICTOIHEYI XA 15,000
SLHF NS 735,000 2,330,100 1,595,100
403 XX SHHMSA=01H 735,000 2,330,100 21,595,100
01 IXISHHA2EE 735,000 2,330,100 A1,59,100
O=AAFNE X2 735,000
A2 K3 A 1,131,411 878,800 252,611
308 XXM SOOI 291,411 214,800 76,611
01 XN ELS 291,411 214,800 76,611
DSBS MSAUSHIXE 75,411
O3 AF L2 HAIA 216,000
403 THXIEHMSIH=01A 840,000 664,000 176,000
01 RIS AH2E £ 840,000 664,000 176,000
O EZE|HY[MAAI L X2 512,000
OSAILFH M 2ZAIERIA 328,000
S Y E ALY 1,173,000 1,080,000 93,000
403 MRS =201 1,173,000 1,080,000 93,000
01 AXISHHA=2 2L 1,173,000 1,080,000 93,000
CIOHRet=at A X 1,053,000
OE20IsE0UHN X 120,000
SSAHEFINE=RH 599,500 825,000 225,500
403 XX SHHSA=01H 599,500 825,000 225,500




42 SENRER S BMEY
M ESMAUTAIY (SHALA/ s - 5&)
Rl K2 CIALE EER=E)
AR R BB B(3H) - MBAY - BES 0l arey diEx HIRS2
d= - A - R F S . 0l &2 =
01 AXIHNK2EE 599,500 825,000 N225,500
O3S AHRSIESXI&A 599,500
SERAA AL 5,897,131 4,279,871 1,617,260
SIMSOHME 913,569 963,851 ANB0,282
308 AXIHHSOIA 913,569 963,851 AB0,282
01 AIXHMEANEEZ 913,569 963,851 N50,282
st SO E 913,569
SAESOISHESH2HI XA 119,600 182,000 62,400
308 AXIHHMSOIA 119,600 182,000 A62,400
01 AEXISHHEAMERZS 119,600 182,000 62,400
OfKAES0IHEI Y 2AT|R 119,600
K XHIS0HHS & sH =2 E X)) 39,000 63,000 A24,000
308 XAXIHHSOIA 39,000 63,000 A24,000
01 AIXHAMBAEEXZ 39,000 63,000 24,000
OXXAHIS0HH S 24 3t 39,000
SHAMA M 2012 kT | 2H(KH2) 141,586 156,000 AN14,414
403 RtXIHASK=01H 141,586 156,000 A14,414
01 RIXISH 22 R 141,586 156,000 N14,414
OLUAMHAXMBoIA LT 2 (XH2) 141,586
UAMAX B0l 2 (H A 201,876 227,183 ND5,307
308 AXIHHMSOIA 201,876 227,183 N25,307
01 AIXSHHEAERZ 201,876 227,183 N25,307
O AAF S0l k | 2H(H A 201,876
UMAERIMLAIS 313,000 650,000 337,000
403 RIXIHMSK20|H 313,000 650,000 337,000
01 XEXISHH A =22 X 313,000 650,000 A 337,000
OZMASER2XA 313,000
SEAHS0IEL 3G 66,300 152,237 A\85,937
308 AXIHHSOIA 66,300 152,237 A\85,937
01 AIXHMEANEEZ 66,300 152,237 A85,937
[sE=22s0i2dy3st 66,300
S20tsd 23t 57,200 28,600 28,600
308 AXIHHMSOIA 57,200 28,600 28,600
01 AIXSHHBAERZS 57,200 28,600 28,600
O&sE0ixs 23t 57,200
SOIAIESE X 928,000 232,000 696,000
403 RIXIHMSK201H 928,000 232,000 696,000
01 XEXIHH A =22 X 928,000 232,000 696,000
SOIAIESE X 928,000
LA = 117,000 125,000 8,000
308 AXIHHSOIA 45,000 50,000 A5,000
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ax SHEURE= A SSYEL
M JIRZHE A (sHMLM/5Y - sF)
Rl HASZAIE (SH9 H2)
Al = % ol (5 - dET =
A2 2A - B O9(3) - HIRAY - BES Ol &t S B2
01 XH=HI 180,000 180,000 0
WA= ea) 180,000
307 2I2to1H 14,000 20,000 26,000
04 IZFHALAIE = 14,000 20,000 26,000
O==2f At 2/ ALK& 14,000
308 AHAIEMSOIE 398, 160 390,240 7,920
01 AXHHNBHEES 398, 160 390,240 7,920
OZ==2==ZX& 398, 160
403 TR SHMSAH=01 ™ 240,000 330,000 290,000
01 MRS 2EE 240,000 330,000 A90,000
OESAL LXK 240,000
YALRSEEI 10,000 10,000
303 Z&2 10,000 10,000
01 Z&3 10,000 10,000
OYALRSEE AL 10,000
22| At 30,460,270 25,779,730 4,680,540
sSrA=sgugt+e 636,544 636,550 N6
206 M=zl 636,544 636,550 A6
01 M= HI 636,544 636,550 16
Oe=A=sgogetre 636,544
SN HSEM 572,161 704,223 132,062
308 XIXIEME0IH 572,161 704,223 132,062
01 HXSHH B EES 572,161 704,223 A 132,062
OSAMXSESSM 421,621
LGPSHLD [ AAI MBS SHIH 2= 150,540
JlesitEgae| & 532,103 677,768 145,665
308 AtXIEMSOIE 532,103 677,768 145,665
01 HAHHBSEEXS 532,103 677,768 145,665
otssotEgael A 276,900
OSHAEI I SSYMA A 228,800
OxFoISFUAXNSZRSHE X2 26,403
UotsgA2S X 1,529,541 1,568,250 A38,709
308 AHXIEMSOIH 1,529,541 1,568,250 A3B,709
01 XN BEES 1,529,541 1,568,250 A3B,709
OaE24eHZH)HELE 1,529,541
AHESASIIE 15,170,625 10,113,750 5,056,875
308 AtAIEHMSOIE 15,170,625 10,113,750 5,056,875
01 HASHHBSEXS 15,170,625 10,113,750 5,056,875
O MEEASXE 15,170,625
EsdgdEne 992,000 845,693 146,307
308 KtXIEMS0IH 992,000 845,693 146,307




SEHRE2 2N SSge
IEAHHE S (SR LM/ 52 - SE)
AR ALY (SH9 H2)
2. 24 - BB O9(30) - HRAY - BAS ol ke G o HlmS2
01 AXIEHZAExS 992,000 845,693 146,307
OF NS SSHAA 130,000
WG EESEYNEITONYS (b 150,000
OF MMM S AE L ARHMIKIR 135,000
OSADIEISHI SR 250,000
O MU ESAI=0I X2 (RHA) 327,000
LAANSLX A 450,000 450,000
308 AtXIHMSOIH 450,000 450,000
01 IXSHHBAEERS 450,000 450,000
OHEASAE 2| 450,000
CHOI=SZE G0 2 A 405,000 460,000 55,000
308 AXISHMSOIA 405,000 460,000 55,000
01 XIXIEHHBAE LS 405,000 460,000 55,000
OUO=EE 82U 333,000
OASRdet(Z&)HE S (XHH) 72,000
SHELA2ZLA=HIZEXA 1,719,900 1,833,000 A113,100
308 AHXIHM SO0 & 1,719,900 1,833,000 A113,100
01 IXSHHBLERS 1,719,900 1,833,000 A113,100
OSHN=A2EYASHIEXA 1,719,900
THSHEESKIA 8,368, 156 8,490,496 A122,340
308 AXIHMSOI& 8,368, 156 8,490,496 A122,340
01 XIXISHHBAE LS 8,368,156 8,490,4%6 A122,340
RIS AI 22| K& 5,174,756
O M S0l e A E S Al=HI 2,759,900
OAFRMSAHEH(EsS) 433,500
HEMELSAIEXIZ 39,000 0 39,000
403 XX SHHMSK=01A 39,000 0 39,000
01 X SHAEER 39,000 0 39,000
OHEBNELASAIEXA 39,000
LesIHEE 2l XA 45,240 0 45,240
308 AXISHMSO0IA 45,240 0 45,240
01 XX B E LS 45,240 0 45,240
OessItag e K& 45,240
SNSRI MAIS 4,925,547 4,240,954 684,593
SEAAFRIALIXIA 1,623,333 1,712,000 A\8B,667
307 2I2+01A 1,623,333 1,712,000 A88,667
02 QIRHEAAIH B X 1,623,333 1,712,000 88,667
OS=SZAE2I X2 1,623,333
SAZ0IS M2 KA (HESEI) 1,267,500 1,185,989 81,511
308 REXIHMSOIH 1,267,500 1,185,989 81,511
01 IXSHHBAEES 1,267,500 1,185,989 81,511
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=ENRER
ISR BT SRH S
SEZBNE (249119
2 RA - BB O9(E0) - HRAY - BAS of v G o HIDE2
| DZogozsssiszting 670,560
SSEHH=Y 3,228,065 3,296,744 68,679
308 AXIHSOIA 3,228,065 3,296,744 68,679
01 HXHHBAEES 3,228,065 3,296,744 68,679
O=ssSgHeHEa X 3,228,065
RS X AI= 2t 7,250 3,625 3,625
308 AtXIEHMSOIE 7,250 3,625 3,625
01 XN B EES 7,250 3,625 3,625
ORISR At= 202 7,250
JIESXg=AE 87,000 29,000 58,000
308 XtXIEMSO0IE 87,000 29,000 58,000
01 XN B2 LS 87,000 29,000 58,000
ot=HSX =42 87,000
RISSESHHIIA 467,678 508,940 A4,262
308 AXIHSO0IA 422,678 463,940 A4,262
01 HAHHBSEEXS 422,678 463,940 A41,262
ORVISSESHH2EXH 150,000
URIIsSSAEEEHES 191,678
ORI SSULHEAH 81,000
403 X SHHMSAH=01H 45,000 45,000
01 AXISHHA =2 £ 45,000 45,000
ORJIsSSESHEAIE 45,000
SEESHEEXIHINRH(XE) 306,000 547,000 A\241,000
403 MR HHMSAHE01H 306,000 547,000 A\241,000
01 MXIHHA 222 306,000 547,000 241,000
O=22sHH4XIHIXI (XIS EH) 306,000
s==XH&E 9,800 14,700 24,900
308 AFAIEHMSOIE 9,800 14,700 4,900
01 RSN B EES 9,800 14,700 24,900
Os==sXA&d 9,800
glelsS= =3 EMAIE 45,000 15,000 30,000
308 AtXIEMSOIH 45,000 15,000 30,000
01 XN B2 LS 45,000 15,000 30,000
etds====MA 45,000
HNSAS Y= 510,400 563,200 ~\52,800
308 AXIHSOIA 510,400 563,200 ~\52,800
01 HAHHBAEEXS 510,400 563,200 /52,800
HaAMsHESEe+==XI3 510,400
RARIISSUHTAE 21,120 23,160 2,040
308 XXM SOIH 21,120 23,160 A2,040
01 XN EES 21,120 23,160 22,040
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5242244 100,726 %2 x 119 23,973
OFHZAH| 140,0009 x23% « 122 38,640
OYESI| 796,464,000 *8. 3%+60%*23] 79,328
O D2 AH|
1,446,490, 0002 *8 . 3%+86%*3 . 3%x 10 34,073
OXZEXH| 53,940
042 400,0009 * 12 * 122 4,800
o532 250,0009 x2% » 122 6,000
O6Z2(HTA 185,000 x5 » 122 11,100
ora 180,000 9% » 12 19,440
082015t 175,000 6%« 12 12,600
02 JIEt= 24 419,320 418,285 1,035
022 337,309
OLerI|H 337,309
== 66,034,000« 1 66,034
-T2aY 54,255,000 x5 271,275
&g 48,162
OELY 7,560
-Bi X 40,0004 52 x 128 2,400
L PE| 30,0002 +32 « 12 1,080
=1 PUE| 70,0002 x32 « 12 2,520
—AH IH Kb 110,000+ 1%« 122 1,320
DIERDHE 20,0002+ 1128 240
OAlIZA2224E 40,602
oz 12,5312I%10A| 26« 122 9,023
-z 12,5312I%35A| 2H6Z « 122 31,579
O™ M ZAIH| 140,000 6% » 122 10,080
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410,454, 00021 +8. 3+86%+3. 3%+ 10 9,669
OXZExH| 14,100
o6 4g 250,0002 1+ 128 8,000
oraag 185,000& 5% * 128 11,100
0B BRE(PIHL)ZEX 24 886,519 846,813 39,706
Rl 485,604
Os=H 485,604
122 (135 8) 2,177,340 +8H 12 209,025
2X2(162 ) 2,560,910 9« 12 216,579
g 400,915
OJlg+¢ 80,935
-1IXZ2(1388) 4,354,680 2 +8% 34,838
22X Z2(1683) 5,121,840 9 46,097
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iEy 18,360
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B DYE 30,0002 52 * 122 1,800
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-RY224E 87,229
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2R 2 22,8902 *20A| 2H9Z * 122 49,443
02244 14,539
ek 65602 * 10A| 2482 * 122 6,298
2XZ 7,6302 % 10AI 249 * 122 8,241
Oxt4-g 23,262
-3 2 104, 9602 *8& * 12 10,077
22Xz 122, 0802 9 * 12 13,185
OFUZA 140,008 %17+ 122 28,560
OWSExH| 60,000&1* 172 * 128 12,240
OYERIMI 48,561
-122(1388) 2,612,8108+8% 20,903
222 (1652) 3,073,002 92 27,658
304 H2RY3E 78,000 78,000
M BLI(LIAH) 22X PHIFES S 78,000 78,000
OSRAI2X=201032E3 48,000
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